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5 BDmyd Avigvb M 1-30=30 94 47 50 191 95.5 gy:Avjv 1g

9 Avey Zvjnv-1 O 1-30=30 90 50 50 190 95 gy:Avjv 2q

1 dqmvj K 1-30=30 89 50 50 189 94.5 gygZvR 3q

37 Igi dviæK M 1-25=25 82 50 50 182 91 gygZvR 4

6 wRnv`yj Bmjvg N 1-30=30 78 50 50 178 89 gygZvR 5

16 Avãyjøvn (‡gvjøv) M 1,11-30=21 78 50 48 176 88 gygZvR 6

41 Rv‡ei †nvmvBb O 10-30=21 75 50 50 175 87.5 gygZvR 7

24 kvnRvjvj K 2-30=29 72 50 50 172 86 gygZvR 8

4 dvBRyjøvn M 1-30=30 75 45 50 170 85 gygZvR 9

25 ‡kvqvBe L 1-30=30 88 30 50 168 84 gygZvR 10

23 mvbvDjøvn K 1-30=30 73 45 48 166 83 gygZvR 11

3 ZvInx` (KjviY) L 1-30=30 71 45 49 165 82.5 gygZvR 12

11 wbqvR gvngy` R 1-7,11- 65 50 49 164 82 gygZvR 13

17 mwKeyj Bmjvg N 1-30=30 64 50 50 164 82 gygZvR 13

7 Avgvbyjøvn N 1-30=30 71 45 47 163 81.5 gygZvR 14

20 Avey Zvjnv-2 O 1-4,8-30=27 66 45 50 161 80.5 gygZvR 15

12 dvBRyjøvn K 1-30=30 87 20 49 156 78 Rv:wR: 16

36 Bqvwmb K 8-30=23 55 50 50 155 77.5 Rv:wR: 17

8 Avey IevB`v O 5-30=26 74 35 45 154 77 Rv:wR: 18

38 gvn`x M 1-6,16- 56 45 50 151 75.5 Rv:wR: 19

18 Av: Md&dvi N 1-30=30 52 50 48 150 75 Rv:wR: 20

29 nvwdRyi ingvb O 9-30=22 50 50 50 150 75 Rv:wR: 20

34 ‡g‡n`x L 1-30=30 50 50 50 150 75 Rv:wR: 20

19 iweDj Bmjvg O 9-30=22 51 50 48 149 74.5 Rv:wR: 21

26 Avj gvgyb M 1,11-30=21 52 50 47 149 74.5 Rv:wR: 21

15 ZwiKzj (iƒcmv) M 1-8,11- 48 50 49 147 73.5 Rv:wR: 22

30 gviæd wejøvn O 10-30=21 49 50 48 147 73.5 Rv:wR: 22

2 mvdvZzjøvn K 1-30=30 58 40 48 146 73 Rv:wR: 23

27 evBwR` g„av N 1-30=30 46 50 50 146 73 Rv:wR: 23

35 gymv L 1-30=30 44 50 50 144 72 Rv:wR: 24

33 mvwKeyj K 9-30=22 53 40 48 141 70.5 Rv:wR: 25

28 BqvwQb N 1-30=30 42 50 48 140 70 Rv:wR: 26

32 AvivdvZ K 1-5,11- 68 20 50 138 69 Rv:wR: 27

22 dwi` R 7-30=24 41 40 20 101 50.5 Rvwq¨` 28

13 mvjgvb K 1-30=30 73 15 49 137 68.5 gvKeyj 29

39 wmdvZzjøvn N 1-7,11- 37 50 50 137 68.5 ivvwme 30

40 RvKvwiqv N 1-6,16- 33 50 49 132 66 ivvwme 31

14 nvweeyjøvn L 1-30=30 37 40 45 122 61 ivvwme 32

31 cvi‡fR Q 1-30=30 33 40 48 121 60.5 ivvwme 33

42 gywneŸyjøvn Q 1-4,11- 20 35 50 105 52.5 ivvwme 34

10 ZvIwn` Q 1-30=30 15 30 48 93 46.5 ivvwme 35

21 ivqnvb Q 1-30=30 24 30 20 74 37 ivvwme 36

cix¶v_©x 42Rb| gy:Avjv: 02Rb,gygZvR 14Rb, Rv:wR: 17Rb, Rvwq¨` 01Rb, gvKeyj 01Rb, ivwme 07Rb|

gy:Avjv= 90-100 (cÖ‡Z¨K welq)                  

gygZvR=80-100                             

Rvwq¨` wRÏvb=65-79              

Rvwq¨`=50-64                              

gvKeyj= 40-49                                      

ivwme= 0-39

 wndR wefvM (30 cviv MÖæc)

                                      2q mvgwqK cixÿvi djvdj

                `viæj Dj~g evwjcvov KIgx gv`ivmv 1445-46wn.


